
Long Division 2  

1. Divide into groups. 

2. Divide. Combine the remainder ten(s) with the ones. 
  

Tens division is not even. Subtract to find the remainder ten(s). 
Combine the remainder ten(s) with the ones. Complete the examples.

                       

              
              

                   

The remainder ten   
is combined  
with ones. 

  

2  
2 ) 5  8 

- 4
1  8

 
 

                                            

      

       
                     
                       

The two remainder tens 
are combined  
with ones. 

  

2  
3 ) 8  4 

- 6
2  4

 
 

           
      

 

a.   4 ) 6  4 

       
        

 

b.  3 )  

               
   
 

c. 3 )   

               
         

 

d.  5 )   

a. 4 ) 7  6 b. 2 ) 7  8 c. 3 ) 7  8 d. 5 ) 9  5 

 

e. 2 ) 5  2 f. 2 ) 9  4 g. 3 ) 5  4 h. 4 ) 9  2 
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